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key words 0000 (complex plane), O 0O (real axis), 00 (imaginary axis), 00 00O (complex
conjugate), 0 00O (absolute value), 00 (argument), O (sum), O (difference), O (product), O
(quotient)
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(2) 031420=1-2,3+4i=3-40000

T+2i+314i=0+6i=4—6i=(1-2)+B—4i)=1+2i+3+4i
1+2i— (3+4i)=-2-2i=-2+2i=(1-2)—(3—4i)=1+2i—3+4i
(1+20)3+4i)=—-b5+10i=-5—10i=(1—-2i)(3—4i)=1+2i-3+4i
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4-2i|=v20=2v5, |—3i=3, |(1+i)2+i)]=+v2V5=+10, = = —
-2 = VI =25, |3 =3, @+ i@+ =vavs=vIn, | R -
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(1)1+i:\/§(1+i1>=\/5(cos —Hsm7T)
V2 V2 4 4
-1 3 2 2
(2)—1+\/§i=2<2—i—i{)z?(cosér—&-isin;—)
11
(3)3—f_2f<\f—>_2f( s—+z in=:")
(4)—i:1(cos3§+isin3§)
(5)3 = 3(cos 0+ isin0)
—1-— -1 4 4
(6)T\/§”:7—i§:cos§+ising 000D 1000000000000000000]
(5) O 9

2122 = 6(cos 50° + i sin 50°)
oooo 6,000 50°

6) O 12

\/§ 2T 2T
——1+\f2—2(2 i 2(cos?—|—zsm?)

T
Zp=1+1= ( ) (cos — +151n4)

0000|z] =2, |2 =V2, argzlz%ﬂ, argzp =7 00000
|21/ 22] = |z1]/|22] = V2, arg 2 = argz) —argzy =& -1 =32 00002/ 000000000

21 51 5m
P V2(cos 15 + isin 12)

(7) O 13
(1) 14+ =v2, arg(l+4)=20000[1+4)8=2*=16, arg(l+i)®*=8xZ=2r0000
(1+1)® = 16(cos 27 + isin27) = 16
(2) |-1+V3i|=2, arg(-1++3i)=3 0000
| =14+ V3il® =20 =64, arg(—1+V3i)=6x 2 =4r 0000
(=1 4 V/30)% = 64(cos 47 + isin47) = 64

(3) V3—i|=2, arg(vV3—i)=-20000

(V3—i) 8| =278 =L arg(V3—i)8=-=_8xF=420000
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3 i) = o Sl T 4
(V3-1i) = gpg(00s 3 Hisin ) = —mp — i



(8) O 16

(1) z=r(cosf+isinf) 0OOO0 (0<O<2r) 00000

2% = r%(cos 20 + i sin 20) :i:cosg +ising

000000000ooo-?=100r>0000r=1.00000000000000000

20 = —( mod 2m), 9:%( mod )

vo| 3

_ 5 — 144 1+14
00000 0<¢<2r000 0=7%,5F 2= 5 L

z=r(cosf+isinf) 0000 (0<f<2m)0000O0
24 = r4(cos 40 + isin460) = —16 = 16(cos 7 +isin7) 000000000000000 74 =1600
r>000 r=2.0000000000000O00O00O0

40 = 7 ( mod 2m), 9:%( modg)

00000 0<f#<2r0006=7%,3F 22 X000

2 =V2(1+1),V2(~1+1),V2(=1—1),vV2(1 — )

z=r(cosf+ising) 0000 (0<H<2r)00000O
2% =1r%(cos20 +isin20) =14+ 3i =2(cos 3 +isinf) 00 0000000000000 r?=2
OO0r>0000r=+2.00000000000000000

20=—-( mod2r), 0=—( modm)
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